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BRAINWARE UNIVERSITY
Course - MBA
Indian Social Structure and Ethics in Business (MBA106)
(Semester — 1)
Time allotted: 3 Hours Full Marks: 70

[The figure in the margin indicates full marks. Candidates are required to give their answers in
their own words as far as practicable.]

Group -A
(Multiple Choice Type Question)
1. Choose the correct alternatives for the following: 10x1=10

i) Which one of the following statement is not reflective of conflict perspective?
a) Society as a struggle for resource and power

b) change is inevitable, often beneficial and can be violent

c) Society is viewed as a complex system of parts that interact to perform various necessary
functions

d) Conflict between classes determines social change

i) Assertion (A): Privatization of education in India is leading to commercialization of
education.

Reason (R): Commercialization of education has deprived many poor deserving students from
qualityeducation.

Codes:
a) (A) is true, but (R) is false
b) (A) is false and (R) is true

c) Both (A) and (R) are true, and (R) is the correct explanation of (A)
d) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

ii1) “An Outline of Social Psychology” is written by—
a) C. H. Cooley b) Sigmund Freud
c) Muzafer Sherif d) G. H. Mead
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iv) Social Structure of a society is the network of:
(a) Institutional relations (b) Value System

(c) Traditions (d) Compliance to Norms

V) Herbert Spencer classifies society into
a) Four classes b) Eight classes
c) Seven classes d) Two classes

vi) The term society is used to refer to:
(a)The person living in an area (b) The persons coming from the same religion.
(c) The system of social relationship (d) The organized relations between individuals

vii) Inan Indian family the parents prepare their daughters to be a good wife / daughter in her
in-laws home, this is an example of—

a) Socialization b) Re-socialization

c) Adult socialization d) Anticipatory socialization

viii) “Sociology is the science of understanding of the meaning of social action.” The proceeding
statement was made by—

(a) Max Weber (b) Auguste Comte
(c) Herbert Spencer (d) Emile Durkheim
ix) Assertion (A): Women empowerment resulted in rural India during the last two decade.

Reason (R): 73rd constitution amendment empowered rural Indian women.
Codes:

a) Both (A) and (R) are false
b) Both (A) and (R) are true
c) (A) is false and (R) is true
d) (A) is true and (R) is false

X) Who suggested that conflict has a functional importance in society?
a) Karl Marx b) Lewis Coser
c) Ralph Dahrendorf d) Randall Collins
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Group - B
(Short Answer Type Questions)
Answer any three of the following 3x5=15

2. Briefly define the basic characteristics of Indian families.

3. What is the Impact of India’s changed family structure upon child development problem?
4. What is QWL? Explain its impact.

5. What is the difference between rights & duties? Give examples.

6. What is corporate environmental liability?

Group -C
(Long Answer Type Questions)
Answer any three of the following 3x15=45

7. Briefly draw the picture of demographical & constitutional view of Indian families. In this
perspective what are the basic features of Indian families? [8+7=15]

8. Explain the importance of values & ethics Indian organizations. What do you mean by
aesthetic value? [10+5=15]

9. What is CSR? Establish the relationship between CSR and environmental protection.

10. What is occupational stress of an employee? Briefly define the reasons for occupational
stress of the employees? What are the way out of this problem? [ 6+5+4=15]

11. What are the types of castes in Indian society? What role they are playing? Explain your
answer with suitable examples.
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